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Figure: Donald E. Knuth (1938 — $1xH)
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Figure: Donald E. Knuth (1938 — $1xH)
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\documentclass{article}

\begin{document}
Hello, World!
\end{document}

Hello, World!
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\documentclass{article}

\begin{document}
Hello, World!
\end{document}

e documentclass : 2A1Q| HAlS AYE

(article, book, amsart, beamer, oblivoir, .
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\documentclass{article}
\usepackage{kotex}
\begin{document}

Hello, World!
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\end{document}
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\command [option] {m1}{m2}...
\begin{environment} [option] {m1}{m2}...

\end{environment}
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\chapter [Zf2 M|SI1{HE| O|E} / \documentclass[chapter]{oblivoir}
\section[Zf2 MFI{H 0|8}

\subsection[ZE XM Z2]{ H 0|E}

\chapter*{fE{ O|&} [ \documentclass[chapter]{oblivoir}
\section*{& 0|5}

\subsectionx{A~ & O|E}
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\tiny % 10pt 7|& 6pt
\scriptsize 7 10pt 7|& 7pt
\footnotesize / 10pt 7|& 8pt
\small [ 10pt 7|& 9pt
\normalsize / 10pt 7|& 10pt
\large /% 10pt 7|& 10.95pt
\Large [ 10pt 7|&= 12pt
\LARGE 7 10pt 7|& 14.4pt
\huge 7 10pt 7|& 17.28pt
\Huge 7 10pt 7|& 20.74pt
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\tiny \scriptsize \footnotesize \small \normalsize
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\textrm{...
\textsf{...
\texttt{...
\textmd{...
\textbf{...
\textup{...
\textit{...
\textsl{...

L s e s s R S R

\textscq{...
\emph{...}
\textnormal{...}

Lectures on ISTEX (roman)
Lectures on TEX (sans serif)
Lectures on KX (typerwriter)
Lectures on ETEX (medium)
Lectures on IATEX (bold face)
Lectures on TEX (upright)
Lectures on KTEX (italic)
Lectures on KTEX (slanted)
LECTURES ON IETEX (small caps)
Lectures on KTEX (emphasized)
Lectures on ETEX (document font)
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\begin{flushleft}

This text is\\ left-aligned.
\LaTeX{} is not trying to make
each line the same length.
\end{flushleft}

\begin{flushright}

This text is right-\\aligned.
\LaTeX{} is not trying to make
each line the same length.
\end{flushright}

\begin{center}
At the centre\\of the earth
\end{center}

This text is
left-aligned. IATEX is not trying to make each line the
same length.

This text is right-
aligned. IATEX is not trying to make each line the
same length.

At the centre
of the earth
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\usepackage{graphicx}

\includegraphics[width=0.4\textwidth]{1& X}
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\begin{figure} [h]

\centering
\includegraphics[width=0.4\textwidth] {1 &}
\caption{3= CHE FHEE{ "~ 5l=0[''}

\end{figure}

Figure: S CHE J{2IE] “550]"
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o = ~Al(inline style) f flx
A
e

Al(display style)

$\int_a"b f(x) dx$
\[ \int_{a}"b £(x)dx \]
\begin{equation}

\int_{a}"b f(x)dx
\end{equation}
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dF A (inline) 2} Elis=4|(display)

jf,f(x)dx
$\int_a"b f(x)dx$

/a @)

b
[ s @
\[ \int_{a}"b f(x)dx \]
\begin{equation}
\int_{a}"b f(x)dx

\end{equation}
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o HIZt0} = HFES PAISICE \,, \quad \qquad \hspace{...} 2} Z2 HHOZ ZHsHO} StC},

o o

o I S2 518EX| =Dt ot 45 oE] EH2 R X3S 4 glC.
% =}

HEPOo 2 FEFEICE

\usepackage{amssymb,amsmath}
\begin{equation}
\forall x\in \mathbb{R}:

\qquad x~2 \geq O.
\end{equation}
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a"x+y =a"x a’y

"t =a"a?

a~{x+y} =a"x a’y
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< $0=f(0)-p(0)=f(0)-a$0|2E $a=£(0)$0|10
\[ 0=\lim_{x\to 0} \frac{f(x)-(a+bx)}{x} = \lim_{x\rightarrow 0}
<  \left (\frac{f (x)-£(0)}{x}-b \right)=£'(0)-b \]
0|22 $b=f'(0)$0|Ct. MIEtM UXRF ZACFERA! $p()$\= BIZ HMo| A $£(0)+£' (0)x$O|LC}.
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(a,b,
< $n$0]| CHS}HO]
\[ \mathbb{R} " n

\footno

=
- MSTHtm 0|=2 St p. 149

2 Al \textbf{MA} $(a,b)$ M| ZIES $\mathbb{R} 2%, Al AlZ=9
[m}

)¢ MA|e| ZEE $\mathbb{R}"3$2Z LIEIHT, LUBIXOZ X}

:=\{(a_1,2_2,\1dots,a_n) \biggm| a_1,a_2,\ldots, a_n \in \mathbb{R} \}

te{ZtF ...}
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e HIE| \vec,\overrightarrow, \overleftarrow

a=(3,0,0)
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\[\begin{matrix}
A & B & C\\

d & e & f\\
1&2&3\\
\end{matrix}\]
\[\begin{pmatrix}
\end{pmatrix}\]

\ [\begin{bmatrix}

\end{bmatrix}\]
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\everydisplay\expandafter{\the\everydisplay\def
\baselinestretch{1.2}\selectfont}
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Before After
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underset, overset

bczsnejglze $\underset{under}{baseline}$

over
baseline $\overset{over}{baseline}$
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Multiple Limits

E aijbjkcri

1<i<p
1<j<q
1<k<r

\sum_{\substack{1l\leq i\leq p \\

1\leq j\leq q\\

1\leq k\leq r}

}

a_{ij}o_{jk}c_{ki}
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text in maths

A= {z € R|2® = a, where ais positive} .

A=\1left\{ x\in \mathbb{R} \bigm| x"2=a, \text{ where $a$ is positivel} \right\}

bR
rir

\let\originalmiddle=\middle
\def\middle#1{\mathrel{}\originalmiddle#1\mathrel{}}

A=\1left\{ x\in \mathbb{R} \middle x"2=a, \text{ where $a$ is positive} \right\}
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gftial gl At XtX (label and cross-references)

BTEXE AMESH= E CHE 2 0| F & StLt
\label{2tH 2} \ref {2t H} \eqref {2} H} \pageref {2t 2}
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gftial gl At XtX (label and cross-references)

Note that

\begin{equation}\label{eq:1}

A\leq B

\end{equation}

and

\begin{equation}\label{eq:2}

B \leq A.

\end{equation}

So by (\ref{eq:1}) and \eqref{eq:2}, we conclude that $A=B$.

Note that
A<B (4)

and
B < A. (5)

So by (6) and (7), we conclude that A = B.
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gftial gl At XtX (label and cross-references)

Note that

\begin{equation}\label{eq:1}

A\leq B

\end{equation}

and

\begin{equation}\label{eq:2}

B \leq A.

\end{equation}

So by (\ref{eq:1}) and \eqref{eq:2}, we conclude that $A=B$.

Note that
A<B (6)

and
B < A. (7)

So by (6) and (7), we conclude that A = B.
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